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1- jeremy put in extra hours this afternoon to ....................for his late arrival to work this morning.
1) collaborate 2) alleviate 3) accelerate 4) compensate
Sblue (35S ©lus Lise a4y compensate for )le G € aiyiS tasye Hlal Culw Fwl
Bilo 0 0T 025 Oz b b b 5l a1 i el 90l o )5 ) @y Giiauw, pd @ azgi b o>
2-i would not have been able to.........c..cccceecseveeeeeeee.. My academic goals without that support and guidance

of my professors. {iranarze.ir}

1) attain 2) assist 3) assign 4) annex

3- since tom never wears shoes, it was ............cc...............that he would get a piece of glass in his foot.
1) fashionable 2) profitable 3) capable 4) inevitable

4- as aresult of ..................., an item that used to cost eighty cents now cost on dollar and fifty cents.
1) instruction 2) inhibition 3) inflation 4) inspection

part b: reading comprehension

directions: read the following passage and select the choice (1), (2), (3) or (4) that best answers each
question. then mark the correct choice on your answer sheet.

karl friedrich benz was a mechanical engineer who designed and built the world’s first practical automobile
to be powered by an internal-combustion engine.in 1883 he founded benz & co. in mannheim to build
stationary internal-combustion engines, but he was completely dedicated to the proposition that the
internal-combustion engine would supersede the horse and revolutionize the world's transportation. he
persisted in his effort to build a gasoline fueled vehicle in the face of many obstacles, including lack of
money to the point of poverty and the bitter objections of his associates, who considered him in
competent.

benz ran his first car, a three wheeler powered by a two-cycle, one-cylinder engine, on a happy and
triumphant day early in 1885. he circled a cinder track beside his small factory, his workmen running
beside the car, his wife running too, clapping her hands; the little machine made four circuits of the track,
stalling only twice before a broken chain stopped it. even max rose, benz's skeptical partner, whose money
had made the car possible, conceded that he was mildly impressed; but he remained convinced to the end
of his association with benz that there was no future in the horseless carriage.the original benz three-
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wheeled vehicle, the motor wagen, is now preserved in munich. although it first ran early in 1885, its
design was not patented until jan. 29, 1886.
5- what is the passage mainly about?
1) karl benz's effort to make the first automobile.
2) karl benz’s personal life
3) karl benz’s talent in engineering
4) karl benz’'s factory in mannheim.
6- what does the word “supersede” in paragraph 1 mean?
1) rival 2) improve 3) replace 4) defeat
7- which of the following statement about karl benz can be inferred from the passage?
1) no one ever objected to him 2) he had no financial difficulty.
3) his partners believed in him. 4) he was approved by his wife.
8- which of the following is not true about benz's motorwagen?
1) it was patented about a year after it first ran.
2) it was bought by max rose.
3) it first ran near his factory
4) it had a one-cylinder engine.
part a’: grammar & vocabulary
directions: choose the word or phrase (1), (2), (3) or (4) that best completes each sentence.

then mark the correct choice on your answer sheet.

s that only specialists can fathom its complexities
1) very difficult science has become 2) too difficult science has become
3) so difficult has science become 4) such a difficult has science become

10- geothermal energy---and in particular, the price of it--- does not depend on the world's economic and
political situation as ..................... fossil fuels do.

1) strongly as 2) stronger than 3) strong as 4) strongly than

11- one of the features of the zika virus posing difficulties for its diagnostics is that only one out of

four............. by an infection-transmitting mosquito develops any symptoms.
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1) people who bitten 2) people bitten
3) people are bitten 4) whose people bitten
12- the most common data ........................... Official statistics, which are collected as part of the operation

of criminal justice agencies.

1) to be used in criminological research that are

2) which are used in criminological research that

3) used in criminological research ar

4) are used in criminological research that

13- the ending of the movie was totally ............................ i guess we have to decide for ourselves what really

happened (iranarze)

1) miraculous 2) prosperous 3) hazardous 4) ambiguous

14- emma endured a great deal of ....................... when her peers made fun of her in the office.

1) contamination 2) humiliation 3) acquisition 4) stimulation

15- when studying at school, it is essential to ............cccesveerneeeeee. between what information is important and

what information is not.

1) cooperate 2) terminate 3) accumulate 4) discriminate
16- the media is going to .................. the killer as a victim of society’s avoidance of mental health issues.
1) portray 2) assimilate 3) broaden 4) disperse

part b: reading comprehension

directions: read the following passage and select the choice (1), (2), (3) or (4) that best answers each
question. then mark the correct choice on your answer sheet.

regular exercise may offer some protection against alzheimer's disease, even for people who are
genetically at risk, according to recent research, in the study published in the journal of alzheimer's
disease, people who did more moderate-intensity physical activity were more likely to have healthy
patterns of glucose metabolism in their brains — a sign of healthy brain activity — than those who did less.
light —intensity physical activity. on the other hand, was not associated with similar benefits.

the study involved 93 adults with an average age of 64, all of whom had at least one parent with

alzheimer's disease, at least one gene variation linked to alzheimer's disease, or both. this put them at
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high risk for developing the disease themselves, although none showed any cognitive important at the
time of the study.
to illuminate the relationship between brain activity and exercise levels, everyone wore an accelerometer
for a week to measure their daily physical activity and received pet scans to measure glucose metabolism,
which reveals neuron health and activity, in several regions of the brain. for people with alzheimer's
disease, these regions tend to have depressed glucose metabolism.
researchers found that people who spent at least 68 minutes a day engaged in physical activity at a
moderate level — the equivalent of a brisk walk — had better glucose metabolism in all of those regions
than those who spent less time doing so. the amount of time spent being sedentary or doing less-intense
physical activity (like slow walking) were not associated with changes in any of the brain regions studied.
17- what is the passage mainly about?
1) light-intensity versus moderate-intensity physical activity.
2) relationship between regular exercise and alzheimer's disease.
3) glucose metabolism in human brain.
4) people vulnerable to alzheimer's disease.
18- all of the following are true about the people who participate in this study except they.................. .
1) all showed symptoms of cognitive impairment.
2) had at least one gene variation associated with alzheimer's disease.
3) all had an at least one parent with alzheimer's disease.
4) had an average age of 64.
19- which of the following statements is true?
1) people who walk briskly are more likely to suffer alzheimer's disease than those who do not.
2) people who are genetically at risk of alzheimer's disease should spend 68 minutes a day doing physical
activity.
3) people suffering from alzheimer's disease have diminished glucose metabolis.
4) people suffering from alzheimer's disease should always wear an accelerometer.
20- which of the following is closest in meaning to the word “sedentary” in paragraph 4?

1) exhausted 2) depressed 3) sick 4) inactive
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Direction: Choose the word or phrase (a), (b), (c) or (d) that best completes each sentence.

11- It seems to me that they never gave a thought to .......... future problems when the plans were being
laid down five years ago. .
1) unbelievable 2) probable 3) unreasonable 4) impossible

12- Every substance has a melting point and a boiling point. The former is the temperature at which it

changes from solid to liquid. The .......... is the temperature at which it changes from liquid to gas.

1) later 2) latest 3) latter 4) last

13- You could .......... being a little bit more friendly, couldn’t you? .

1) afford 2) comfort 3) effort 4) support

14- She is very .......... You just couldn’t make her walk past under aladder. (iranarze)

1) religious 2) deformed 3) supernatural 4) superstitious

15- Despite these overwhelmingly difficult trading conditions, the company has ......... produced

outstanding results.
1) therefore 2) accordingly 3) nevertheless 4) consequently

16- I've listened to your argument. It's neither here nor there. In other words, it's quite ........... .

1) memorable 2) irrelevant 3) scornful 4) enormous
17- We were surprised ........... James ......... so soon after his car accident.
1) to see/walking 2) being seen/walked
3) to have seen 4) seeing/to have walked
18- .......... out of school as a teenager. Maurice decided later in life .......... up his education where he had
left off.
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1) being dropped/took 2) having dropped/to take

3) to drop/taking 4) dropped/being taken

19- When .......... for olive oil, “refined” means that the oil .......... chemically to neutralize acid content.

1) using/ will have treated 2) to use/ will be treated

3) uses/ is being treated 4) used/ has been treated

20- ..ueeeee of the countries of Western Europe used to have its own currency, but now .......... of them use
the Euro.

1) either/any 2) all/whole 3) each/most 4) whole/every
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